normalized X?

1072

107

Entries
Mean
Std Dev

[ normalized x? probability |

Ratio

Entries 2165

0.14 05169

03603

0.12 2143

05229

H H 0.3583
O.1f--:---: e

Entries 2163

+ | mean 05229

0.08 * - | std Dev 0.3585

0.06!

0

2 4 6 8 10 12 14 16 18 20
X2

0 010203040506070809 1
Prob(x2)

mmmm= DQM_TT__mkFit-DQM_original-0
e DQM_TT__mkFit-DQM_original-127
m——— DQM_TT__mkFit-DQM_mod-127

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

1 10 10? pw3
T

< X2/ ndf >

Ratio

i
T T[T [T [T T I [T TIT T

1 -1
AR(track, jetg)



	Contents
	Page 1


